
Mary mouse has a mass of 

5grams and her brother 

Brandon has a mass of 9grams.  

What is the total mass of both 

Mary and Brandon? 

Jesse made 130 liters of Kool-

Aid for the school party, 

however Landon spilled 17 

liters carrying the containers.  

How much Kool-Aid does Jesse 

have left for the party? 

Ernie the elephant has a mass 

of 465 kilograms.  His mass is 

27 kilograms less than what his 

mass used to be.  What was his 

original mass? 

Brittany made pancakes for the 

school picnic. She poured in 45 

liters of water, 7 liters of 

batter and a litter of heated 

butter.  How much mixture did 

she have when finished? 

A pencil has a mass of 25 

grams.  An apple has a mass 

that is 75 grams more than the 

pencil.  What is the mass of 

the apple? 

Tristin’s granola bar had 4 

grams of fat.  Brandon’s 

cupcake has 32 grams of fat.  

How much more fat did his 

cupcake have than the granola 

bar? 

Jackson found out 9 bags of 

sugar has a mass of 207 grams.  

What is the mass of each bag 

of sugar? 

Mom says I will need a liter of 

soda for each person coming to 

my party.  If 23 students and 

my teacher will attend, how 

much soda will I need to 

purchase at the store? 

Tracey bought 453 grams of 

strawberries.  She had 37 

grams left after making 

smoothies for her class.  How 

many grams of strawberries 

did she use for the smoothies? 

 


